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1. Let X have density f(z) = xze™ for z > 0.

The MGF is? X ™ Goaare (2, Q
a Mx(t) = = for t < 1 re2, 2=

s =g fort <1 wgr (-7;) £
c Mx(t) = for t > —1

(1+t)
d none of the above



@ sec 15 OF ot wieel A floibon

= (N\*Q& Aty L\L\‘\L%\

TA B
c >0

b

L xX=c

\(C?)\c)
- e

i X

£

~AC
-




(Ve

Suppose you are trying to discretly leave a
party. Your time to leave is uniform from 0
to 2 minutes. However, if your walk to the
exit takes more than 1 minute, you run into
a friend at the door and and must spend the
full 2 minutes to leave. Let T represent the
time it takes you to leave. True or the
graph of the cdf of T is:
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Suppose you are trying to discretly leave a
party. Your time to leave is uniform from 0
to 2 minutes. However, if your walk to the
exit takes more than 1 minute, you run into
a friend at the door and and must spend the
full 2 minutes to leave. Let 1" represent the
time it takes you to leave. True or false, the
oraph of the cdf of T is: Fl& ECT)
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